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posledńı změna: 22.2.2024

Výsledky:

Př́ıklad 1.

a) obecné řešeńı: y(t) = C1 e
−3t+C2 e

5t, C1, C2 ∈ R

b) obecné řešeńı: y(t) = C1 e
2t sin(4t) + C2 e

2t cos(4t), C1, C2 ∈ R

c) obecné řešeńı: y(t) = C1 e
−2t+C2t e

−2t+C3, C1, C2, C3 ∈ R

d) obecné řešeńı: y(t) = C1 sin(2t) + C2 cos(2t) + C3, C1, C2, C3 ∈ R

e) obecné řešeńı: y(t) = C1 sin(3t) + C2 cos(3t) + C3t sin(3t) + C4t cos(3t), C1, C2, C3, C4 ∈ R

f) obecné řešeńı: y(t) = C1 e
−t+C2 + C3t+ C4t

2, C1, C2, C3, C4 ∈ R


